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1. BARETREOPITIRI (FF1449 A 30 H HAE)

[ A] (FpL: TH)
FHA (50 FHA (5 BTl I G
1. e Kk A A 160,166 90,751 56.7%
1. A& 160,166 90,751 56.7%
3. BB 2 0 0.0%
1. fATERHF 1 0 0.0%
2. MEA 1 0 0.0%
5. MEE 118,900 0 0.0%
1. fLA1E 118,900 0 0.0%
Al 279,068 90,751 32.5%
[k ] (HANZ: 1)
FHE (50 FHE () B S A 4 ¥

1. SEEH 951 81 8.5%
1. EEH 951 81 8.5%
2. HE 113,473 1,985 1.7%
TS PR 113,269 1,883 1.7%
2. EEZEH 204 102 50.0%
3. frAE 163,644 84 0.1%
1. {Efm# 163,644 84 0.1%
4. Tl % 1,000 0 0.0%
1. P % 1,000 0 0.0%
Al 279,068 2,150 0.8%
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[ A] (HAT:TH)
o . /\-ﬁ-‘f H—rﬁ\ L
e TEBE | WARE | LA g
B GR) BEHAL DR
(A) (B) (B)-(A) (B)/(A)
1. & K NEH 4 128,305 121,538 A 6,767 94.7
2. [EE 3 H 4 4,821 3,793 A 1,028 78.7
3. BRIV 2 0 A 2 0.0
4. fehtk 4 167 166 A1 99.4
&t 133,295 125,497 A 7,798 94.1
[ ] (BN TH)
o . /\-ﬁ-‘f H—rﬁ\ L
o B | e | Laose | e
BB GR) BHL DR
(A) (B) (A)-(B) (B)/(A)
1. i 337 225 112 66.8
2. T 104,251 97,912 6,339 93.9
3. At 27,707 27,311 396 98.6
4. Vs 1,000 0 1,000 0.0
&t 133,295 125,447 7,848 94.1
(ENEEY)| (Hf7:TH)
X4 AEE
e NS KE (A) 125,497
i H R E (B) 125,447
N H 7225 |58 (C) = (A)—(B) 50
BUEJE ~ R0 B3 X AR (D) 0
FEE N KA (E) = (C)—(D) 50

KRPOHFIL, mBZEERAALTRRLTNSS:

BERERREN—BLBWNEENH D,




